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° FYF T F T [ FG FT-7 H FRG 75 16 O
J97-25(11+7+7) &1
Please make sure that the printed pages in this

question paper are 16 in number-and it contains
25(11+7+7) questions.

° T97-UF 7 qled & # G ’d 7 FE TR a9 §e FH
B FT-JieTetl & §&-98 T 7]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 [ FIV [T §@ HI7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4308/(Set : D)
o FTT-gikTE # &5 7 &l o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaEl F SaRF FE o dfc T& Al o
STPTEAFar & g i frar gav 7 #12)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the uwritten
answer.

o GRS ST T To FIT-UF T 79T [or@)
Candidates must write their Roll Number on the
question paper.

» UF F97] F FT &7 @ §d 98 GrREad &7 o [F Je7-0E
g7 q @& & YhEr % Iy 54 T5EH. F #HE A a@r
& T [T T

Before answering the question; ensure that you
have been supplied the correct and  complete
question paper, no claim in this regard, will be
entertained after examination.

AT [78%T -
() T8 FIT-FE- AT G F @ & -
97T - 3 : ST G T @IFaTd @I
T - & + F Ga GF AT [l s @9y
9T - & : BLCIHT AG[H)

(i) T - 37 Sffard &1 qErE o7y seBT @ 4T - §
T T - T 7 7 FE F T ET F
(iii) TH F97 BT BN 81 HAF HIT B HF FGD WHT
T T 8
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(iv) F7 @@ 1@ 6 d 12 @7 13 % 7 15 & 20
=t 7 fod qor g7 g7 @ 10 714 @ 16
P FIT 40 @ 50 g7 F fg@)

(v) 797 G&gr 11, 17 77 18 ¥ of<ii% 8¢ FYore]
&

General Instructions :

(i) This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

(ii) Part - A is compulsory. Candidates have
to attempt any one part from Part — B and
Part - C of their choice.

(iii) All questions are to be attempted. Marks of
each question are indicated against it.

(iv) Give answer Question Nos.'1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7T to
10 and 14 to 16 in 40 to SO words.

(v) Internal choice is available in Question Nos.
11, 17 and 18.

T -
PART - A
(TR HeEE T EEe @)
(Not for Profit Organizations & Partnership Accounts)
1. SRR e | o9 1 99 § ¢ 1
What do you mean by Not for Profit Organization ?
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(4) 4308/(Set : D)
2. HERRI % ‘A @ ;M e 7 1

What are partners' 'Current Accounts' ?

3. W, TV, WART AN B 3:2:1:4 % Jua A
fefod #3d 3¢ ©F wH § ERRR B T W wH 4@
TAIT B & A S AT B foedl B Sr aAr T A
A S H & T
‘F T T o TH W IR Bl TR IO 1
'A', 'B', 'C' and 'D' are partners in a firm. Their
profit sharing ratio was 3 : 2 : 1 : 4. 'B' and 'C’
decide to retire from the firm. Their share of
profits are taken-over by 'A"and 'D'-equally.

Calculate new profit sharing ratio of 'A" and 'D'.

4. S0 & T B TET B @ o ey & aee
I 1

Describe the 'capitalization method" to calculate
the value of goodwill.

5. Wi YU 9 ©F g § BiE 0% A< fraw

Give any one difference between Gaining Ratio
and Sacrificing Ratio.

6. TEE BH & g § F; oY § 7 1
What is meant by dissolution of partnership
firm ?
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4308/(Set : D)

7. 31 HE, 2018 & GG a9 H Ui & P @l 36

TR © -
bk 4 T 4
Y AT A>T T 1,30,000 | fwmm (Ram 11
T T &) | 88,000
2016-17 15,000 CiLai] 1,500
2017-18 2,70,000 A 1,32,000
2018-19 5,000 | 2,90,000 | RITA GIE 30,000
SMSTee Feerdl & 12,500 | Y AW & ST T | 1,95,000
fafam | = 14,000
4,46,500 4,46,500
Fr=T gerell @ &M § T@d gC 31 A, 2018 &

TS a9 H1 SH-5 T JA BT

4
(i)

dem 31-979, 2018 & 7,000 %W
(i) 9 Us 99 & w1 SWad, 2018 - fE
Following is the Receipts and Payments Account
for the year ended 31st-March, 2018 :

4

31 ¥, 2018 & 28,000 % Il IHET I
31 AME, 2017 & R H @@ 2,500 T A

Receipts 4 Payments 4
To Balance B/d 1,30,000 | By Rent (paid for
To Subscriptions : 11 months) 88,000
2016-17 15,000 By Insurance 1,500
2017-18 2,70,000 By Salaries 1,32,000
2018-19 5,000 | 2,90,000 | By Stationery
To Life time member's purchased 30,000
fees 12,500 | By Balance C/d 1,95,000
To Interest on
Investment 14,000
4,46,500 4,46,500
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Prepare Income and Expenditure Account
for the year ended 31st March, 2018 after
considering the following informations :

(i) Subscriptions in arrear on 31st March,
2018 was X 28,000.

(i) Stock of stationery on 31st March, 2017
was ¥ 2,500 and on 31st March, 2018 was
3 7,000.

(iii) Insurance was paid on 1st January 2018 to
run for one year.

8. T IR WH 3 : 2 & oI ¥ s dfed §T T B
HERER B AEer dag i g@ee ©

9 &l 30,000 % da7 aifve f&ar S oo @M
B dd-1,000-F Ui 918 BRI

ST TGl R 6 T /1 @ s
& feran

TS THIEINNG fdfte A 4

Ram and Rahim are partners in a firm sharing
profits in the ratio of 3 : 2. The partnership deed
provided for the following :

¥ 30,000 per annum salary to Ram and
salary ¥ 1,000 per month to Rahim.

The profit was divided without providing for
the above.

Pass necessary Adjustment Entry.

4308/(Set : D)
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9. O, AN W2:2:1% ud § q¥ dfed g H
®H § HEER g1 31 A, 2018 & ‘o7 H TG & IRl
Bl % 99 Ed 31 RE=R @ g% R o g oad
2017 % f¥h 6,00,000 T B qO 1 S9ad, 2018 @
31 ¥, 2018 T& fS=hl 2,00,000 % 31 ¥ 2017 &
&9 30,000 % &I
Il q¥ & A H gk WEHER & AN B OFT Bl 4
'A', 'B' and 'C' are partners in a firm sharing
profits in the ratio of 2 : 2 : 1. 'A' dies on 31st
March, 2018. Accounts are closed on 3lst
December every year. Sales for the year 2017
amounted ¥ 6,00,000 'and sales from 1st
January, 2018 to 31st March; 2018 amounted X
2,00,000. The profit for the year 2017 amounted
% 30,000.

Calculate the deceased partner's share in
the current year profits.

10. ‘TH S ‘9.3 12 B U H q¥ died ¢ U B
¥ gEER B01 3B, 2018 B BH & JEH §
JMT TR
() |=RE 8 &gl 3,00,000
(i) ORI Bl 5% "IN & & PR 4,750
(iii) "W =T 10,000 2|
(ivy $ : ‘=R @ 1,50,000 I AR ‘AR #

1,25,000 |
(v) &% FT 5,000 3
(vi) -8 (fde) 2,500 R
SR el | agal Gl JaR S 4
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(8) 4308/(Set : D)

'X' and 'Y' are partners in a firm sharing profits
in the ratio of 3 : 2. The book of the firm
provides the following informations on 1st April
2018:

(i) Assets realized X 3,00,000.

(ii) Creditors were paid ¥ 4,750 after deducting
5%.

(iii General Reserve ¥ 10,000.

(iv) Capital : 'X'¥ 1,50,000 and 'Y's ¥ 1,25,000.
(v) Bank Loan ¥ 5,000.

(vij P&LA/c (Dr.)X 2,500.

Prepare Realisation Account from the above
informations.

‘TR, ‘AR A SiE’ ThHHH H 5 ;32 & FHIIA H
4 dfed 8¢ WEER &l 31 R, 2017 & S wH
T SEHIY T HIAT 51 STARIT TS HIA B AT B

’

w1 Refy faavr 3@ ueR B ¢

FHIT 4 T 7
ATER 12,500 | 5% 16,000
Jenfves i IR 4,000
% T ST | 11,500 | 92/ SENH (-)100 | 3,900
ToH wTE 4,200
‘T’ 25,400 e 17,500
‘9’ 18,000 9 9 e 40,000
‘¥’ 14,200 | 57,600

81,600 81,600
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‘e’ % e W ol ga
() 9H a9 @ 5% § ST & T FHER I8
20% B T

(i) FON W FENH 5% T I & A JeqND
@ F 12,000 T TF T 2

(iii) % @ T B GedidT 12,000 I ik T

g O, 9ERR & o @ g Haﬁﬁﬁ
Ry foaRer R Elﬁﬁm
X', 'Y' and 'Z' were partners in a firm sharlng
profits in the ratio of 5 : 3 : 2. On 3lst
December, 2017 'Z' retired from the firm. On the
date of retirement the Balance Sheet of the firm
was as follows :

Liabilities 4 Assets T
Creditors 12,500 | Bank 16,000
Provision for Debtors 4,000
legal claims 11,500 Less(: Provision (=)100 3,900
Capital : Stock 4,200

‘X' 25,400 Furniture 17,500
Y 18,000 Land & Building 40,000
'Z' 14,200 | 57,600

81,600 81,600

On 'Z's retirement it was agreed :

(i) Land & Building will be appreciated by 5%
and furniture will be depreciated by 20%.

(i) Provision on Debtors will be made at 5% on
Debtors and provision for Legal Claims will
be made ¥ 12,000.
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Previous Pathshala




(10) 4308/(Set : D)

(iii) Goodwill of the firm was valued at ¥ 12,000.

Prepare Revaluation Account, Partners'
Capital Account and Revised Balance Sheet.

Fgar

OR
WM U AR AN STUE | o9 1 e & ! 3
ﬁﬁww%? 2, 2,4

What do you mean by Sacrificing Ratio and
Gaining Ratio ? What is the difference between
two ?

qT = &
PART - B
(=t @d e o faeet @ R

(Company Accounts & Analysis of Financial Statements)

12,

13.

14.

et frerer faiseiwer & ‘ool ® o T gHed § ¢ 1

What do you mean by 'tools' of Analysis of
Financial Statement ?

oty fer@rent & fascise a8 a Jmn [ 1

Explain any two limitations of Analysis of
Financial Statement.

R YA 3 ¢ 1 T qU AR FIAW 2 ¢ 1 Bl AR A
mﬁﬁaﬁrmwﬁﬁWWMOOO?%aa

I, Rl SiR A AR B O iR 4
Current Ratio is 3 : 1 and Liquid Ratiois 2 : 1. If
the excess of current assets over liquid assets
are ¥ 24,000, then calculate Current Assets &
Current Liabilities.
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16.

(11) 4308/(Set : D)
ARE Jare e & el g O & avF P 4

Mention any four merits of Cash Flow

Statement.

I fie e e M 9o el ®

1-4-2017 | 31-3-2018

aiel ST g (W.D.V.) | 35,000 | 35,000 %

9§ & A UF A P I g™ 25,000 I
off ofix feur dfed a1 15,000 2 8, & 13,000 I #
99 & I = aW HOFE 25,0003 2

A R B O 131 B B UM E 2 o ] S R | O
O &I 4

Rama Print Limited provides the  following

information :

1-4-2017 31-3-2018

Machinery (W.D.V) % 35,000 % 35,000

During the year, a machine costing *
25,000 & accumulated depreciation on it was X
15,000, was sold for ¥ 13,000 current year
depreciation is ¥ 25,000.

From the above informations prepare Cash

Flow Statement from investing activities.

4308/(Set : D) P.T.O.
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17. 0 fd@ds 4 100 ¥ &% & 20,000 S & 10 T
gl e it w Frifa e i 39 swR 3 R

HEET W 25 3; e W 35 X (A |fed) 9
Y THET FoH g HAfwH e [

asll ofell 1 PEM o gem ok & 3 |+l
3 TR, 200 Sfslt W aMEed ofR W A & sfaie
oI B S ST B T HY R T AR 80 % UIE
% qoied S § gATRE e mm

T B GEH W TEEE Ao faftedt
FifeTT| 8
'B' Limited offers 20,000 shares of ¥ 100 each at
premium of ¥ 10 per share to the public. The
amount is payable as follows :

On Application % 25; On Allotment ¥ 35
(including premium) and- rest on First & Final
Call.

All = shares are  subscribed. Company
received all money except allotment and first &
final call money on 200 shares. These shares
were forfeited and re-issued fully paid up at ¥ 80
each.

Pass mnecessary Journal Entries in the
books of the company.

YT

OR
(37) P AT qEn SIRM A (S W) @ i
UG B dU B T IAY TR ST

gfefeat o fafam 4
(@) il &1 oI W e § wEtEd @ aEe
g ? W= Fif 4
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(@) Mention the provisions and also give
journal entries relating call in arrear and
call in advance.

(b) What are the provision regarding issue of
shares at premium ? Explain.

18. ﬁwaanaﬁﬁmﬁ%ﬁm%wmzﬁﬁuzs

(i 15,000, 12% *0F &% 10 T &
Wﬁﬁﬁﬂ%iﬁﬂzﬁraﬁm%mﬁwwﬁm
SR

(i) 20,000, 7% F'MT T&¥% 50 ¥ H I W
Frifg g @, e sied q9ge W e
SR

(iii). 12,500, 8% O F&%h 10 I 3% A T
rithg fhe T, e e 2% St W Re
STRIATIN

(iv) 4,000, 9% FOT9H UA®H 100/ H 4% il W
ﬁmmﬁwﬁraﬁmmmwm

l

Pass journal entries at the time of issue of
Debentures in the following cases :

(i) Issued 15,000, 12% debentures of ¥ 10
each at par, redeemable at a premium of
5%.

(ii) Issued 20,000, 7% debentures of ¥ 50 each
at par and redeemable at par.

(iii) Issued 12,500, 8% debentures of ¥ 10 each
at a premium of 3% and redeemable at a
premium of 2%.
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(14) 4308/(Set : D)

(iv) Issued 4,000, 9% debentures of ¥ 100 each
at 4% discount and redeemable at a
premium of 6%.

T

OR
(31) e & iR Ufied W FO@EN & R @
SRE R 4
(@) oo IR T # d= R [l 4

(a) Explain the issue of debentures other than
cash consideration.

(b) Write difference between- share and
debenture.

qM7T -9
PART - C
(Pl @)

(Computerized Accounting)

12. FYTUHA @b IO H HiE 0% Aqwan e

Write any one feature of Computerized

Accounting System.

13. ‘SIINE %Y § AT 1 g9 § 7 1
What do you mean by 'Database Interface' ?
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14.

15.

16.

17.

(15) 4308/(Set : D)

FYTNHT AGHT IO B GO AT T bl
e g &7 A R 4

Give any four advantages of Computerized

Accounting System over Manual Accounting
System.

‘GUI (Mhd ToR 3aX%8) W T S fewell ffaw) 4

Write a short note on 'GUI (Graphical User
Interface)'.

ST TS+ TUTRl % SUFRT A § 7 4

What are the uses of Database Management
System ?

(i) foste, aer (i) feoeT &g H wr e m @l gkha @
qui il 8

Describe 'the procedure for creating Form
(i) wizard, and (ii) design view.

HAYAT

OR

feog o fafr @ wn vH-THg | quam &1 @ A
TR B IO BT 8

Describe various steps the design view method
to create a Query in MS-Access.
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18. 1 # oy #IfvTT :

(31) T@g® T @il
(@) &« Rwid 9 g Ao

Differentiate between the following :

(a) Workbook and Worksheet.

(b) Cell reference and Circular reference.
AYAT
OR

Fre=t ox e oo fafeg

(&7) - st Sedfie &t FRiva

(3) sxieifen Bresiic & STl

Write short notes on the following :
(a) Features of Electronic Spreadsheet.

(b) Applications of Electronic Spreadsheet.

4308/(Set : D)
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(Only for Fresh/Re-appear Candidates)
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° FYF T F T [ FG FT-7 H FRG 75 16 O
J97-25(11+7+7) &1
Please make sure that the printed pages in this

question paper are 16 in number-and it contains
25(11+7+7) questions.

° T97-UF 7 qled & # G ’d 7 FE TR a9 §e FH
B FT-JieTetl & §&-98 T 7]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 [ FIV [T §@ HI7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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o FTT-gikTE # &5 7 &l o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FUv-gikawl & Slakdd g o9 de TE A o
SETRATA & fid v ferar g 7 212
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the uwritten
answer.

o GRS ST T To FIT-UF T 79T [or@)
Candidates must write their Roll Number on the
question paper.

» UF F97] F FT &7 @ §d 98 GrREad &7 o [F Je7-0E
g7 q @& & YhEr % Iy 54 T5EH. F #HE A a@r
& T [T T

Before answering the question; ensure that you
have been supplied the correct and  complete
question paper, no claim in this regard, will be
entertained after examination.

AT [78%T -
() T8 FIT-GE- AT G F @ & -
97T - 3 : ST G T @IFaTd @I
T - & + F Ga GF AT [l s @9y
9T - & : BLCIHT AG[H)

(i) T - 37 Sffard &1 qErE o7y seBT @ 4T - §
T T - T 7 7 FE F T ET F
(iii) TH F97 BT BN 81 HAF HIT B HF FGD WHT
T T 8
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(iv) F7 @@ 1@ 6 d 12 @7 13 % 7 15 & 20

(v)

= § fod aer g97 g7 @ 10 714 @ 16
AT 40 @ 50 =1 F @)

97 @eqr 11, 17 797 18 ¥ il §¢ =]
&1

General Instructions :

(9

(%)

(iii)
()

(v)

This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

Part - A is compulsory. Candidates have

to attempt any one part from Part — B and

Part - C of their choice.

All questions are to be attempted. Marks of
each question are indicated against it.

Give answer Question Nos.'1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7T to
10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos.
11, 17 and 18.

| -
PART - A

(T W O e @)

(Not for Profit Organizations & Partnership Accounts)

1. THETTH & TG 9T T B GO o 1

Describe the amount received under Legacy.
4308/(Set : A) P.T.O.
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(4) 4308/(Set : A)
2. AERR €@ H GREANT B 1

Define Partnership Deed.

3. T AR ART 2 : 1 B U & To-&IW ded g Th
w4 § 9EER ¥ SN e § W SR Hed @ A

ia% AqRT % T 47 AEER a9

SRIISIEEC IR IEIC I S 1

Rajat and Rohit are partners in a firm sharing
profits and losses in the ratio of 2 : 1. They

admit Ram and Mohan as new partners for lth
and %th share in profits respectively.

Calculate their new profit sharing ratio.

4, TG B AHATNG. i 1
Define Goodwill.

5. Ul & EMC SRy B @ o oTgu @R fREr S
T & 1

Give two circumstances in which gaining ratio
may be applied.

6. gl Tl IRAMG i) 1

Define Realisation Account.

4308/(Set : A)
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7. 31 9E, 2018 & GO 9y & forg ffes a9 & mfq

YA G 39 TR 8
T ¢ AT 4

SERCIHESIRIRR 2,60,000 | fmar (Rar 11
T (% 10,000 o &) 1,76,000
2018-19) | 5,80,000 | = 3,000
Ao TEEaT h | 25,000 | 99 2,64,000
fafar ® == (7% [SNE URERIG| 60,000
iy @ & & Y S & S || 3,90,000

as & 28,000

8,93,000 8,93,000

31 HE, 2018 H UG &4 ail a¥ & -2 il

=T gameTt &1 = H TEd gu (AR iy

() 31 A€, 2017 & F= @I-R-30,000 3-eHET &
& 31 T, 2018 &I 48,000 2 HET i

(i)

3X 319, 2018 &l 14,000.3 |
(iii) M1 1 S¥a<, 2018 & Th-a¥ & fow R mm

Following is‘the Receipts and Payments Account
of Citizen Club for the year ended 31st March,

4

31 HE, 2017 F ©IEU B € 5,000 T 4

2018 :
Receipts ¢ Payments 4
To Balance B/d 2,60,000 | By Rent (paid for
To Subscriptions 11 months) | 1,76,000
(including ¥ 10,000 By Insurance 3,000
for 2018-19) | 5,80,000 | By Salaries 2,64,000
To Life time By Stationery
membership Fee 25,000 purchased 60,000
To Interest on By Balance C/d 3,90,000
Investment (7%
p-a. for full year) 28,000
8,93,000 8,93,000
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(6) 4308/(Set : A)

Prepare Income and Expenditure Account for the
year ending 31st March, 2018 after considering
the following informations :

(i) Subscriptions in arrear on 31st March,
2017 were ¥ 30,000 and on 31st March,
2018 were T 48,000.

(ii) Stock of stationery on 31st March, 2017
was ¥ 5,000 and on 31st March, 2018 was
% 14,000.

(iii) Insurance was paid on January 2018 to
run for one year.

8. T ok W up B4 F UEEN B GEel g
STYER : 4
() 27,000-% T AW H A AL G4 27,000 R

q ST &l 2: 3 & I A aredl
(i) ‘@ 5,000 % @t IGT UGN H SRR & X A
HHI @ T B AT G b G B @ B 2%
FHIIE U H BRI Bl daq9 9 HHIIE geM |
qd 99 H.AH 37,844 X &
AW B deaT HINW TUT AW Ud e i
g ST
'A' and 'B' are partners in a firm. According to
their partnership deed :

(i) Profit up to ¥ 27,000 are divided equally
and excess of ¥ 27,000 are divided in the
Ratio of 2 : 3.

4308/(Set : A)
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(7) 4308/(Set : A)

(ii) 'A'1is entitled to get annual salaries ¥ 5,000
and 'B' is entitled to get 2% commission on
net profit after charging such commission
and A's salary. Profit for the year was
337,844 Dbefore charging salary and
commission.

Distribute the profit and prepare profit and
loss appropriation account.

9. M, gbe, MI A AT 2 : 2 : 1 : 1 F Fgua A
-2 dfed §Y UH BH 7 AEeR g1 W o a3
Wﬁ@(W&TWWHWWlWﬁEﬁ@ﬁW
e 90,000 I A1 AN FH a4 AN Al H
-2 ST 5: 3 F are

fd-agdeR & fOd. oTdsgs Aoreer ufafte @i 4

Ravi, Mukesh, Naresh and Yogesh are partners
in.a firm sharing profits and losses in the ratio
of 2 :2:1+1. Ravi and Naresh decided to retire
from the firm. The goodwill of the firm was
valued at ¥ 90,000. Mukesh and Yogesh decided
to share future profits & losses in the ratio of
S 8.

Pass necessary Journal Entry for the treatment
of goodwill.

10. T AR ‘A2 : 1 & IgUE ¥ aw-a el W &
B ¥ WEER 8 3 B & faged (@) W & o
Hqeud gU - gl | 999 §¢ 2,50,000 R

IERE 39 JHRK € ¢ AMeR 1,50,000 ¥; %
70,000 %; T T 40,000 % X A’ 35,000 %;
S 3,000 3]

T B gEH H g @GR i) 4

4308/(Set : A) P.T.O.
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11.

(8) 4308/(Set : A)

'A' and 'B' are partners in a firm sharing profits
and losses in the ratio of 2 : 1. They decided to
dissolve their firm. The assets realized of
% 2,50,000.

Liabilities of the firm were : Sundry creditors
¥ 1,50,000; Bank Loan ¥ 70,000; Capital A's
340,000 and B's ¥ 35,000; cash in hand ¥ 3,000.

Prepare a Realization Account in the books
of the firm.

T A W 5 ;3 U F Aw-a Sed 5T 0

B ¥ @R ¥ 31 W, 2018 & BH & Refy faawer

9 TR o ¢

IR 4 T 4

Tof - @re g FiiFd | 40,000

M 30,000 % i 30,000

@ 20,0002 | 50,000 | IR 20,000

KREIES 15,000 | U< faus 10,000

o Tty 42,500 | ¥ 9 7,500
1,07;500 1,07,500

ﬁﬁﬁ%m%%ﬂtﬁﬁu&ﬂWW|as

40,000 % Tt % &9 § g 4,000 3 @AM & ST &
B0 H @@ W g g e g A Hw e 10%
TG T SRR W 5% & W § AENH 1 W/

HEqd &V
IR O, AEER & geil @ ok wH A
T Refer feer qar i 8

4308/(Set : A)
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Ram and Ravi are partners in a firm sharing
profits and losses in the ratio of S : 3. The
position of the firm as on 31st March, 2018 was

as follows :
Liabilities 4 Assets <
Capital A/c :— Plant &
Machinery 40,000
Ram % 30,000 Stock 30,000

Ravi % 20,000 50,000 | Sundry Debtors 20,000

Sundry creditors 15,000 | Bill Receivable 10,000
Bank overdraft 42,500 | Cash at Bank 7,500
1,07,500 1,07,500

Mohan now joins on condition that he will share

% of the future profits. He introduced ¥ 40,000

by way of capital and further ¥ 4,000 by way of
premium for goodwill. Ram and Ravi agree to
appreciate plant and machinery by 10% and to
raise a reserve against sundry debtors @ 5%.

You are required to prepare Revaluation
Account, Partners' Capital Accounts and New
Balance Sheet of firm.

4308/(Set : A) P.T.O.
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(10) 4308/(Set : A)

YT

OR
Teh HEER & g W 36 B & 4l &l T B
F i it @1 Srexr afed avie i 8

Explain with example various methods of
computing the share of profits in case of death of

a partner.
qT - §
PART - B
(ot @a e o faRet @ s

(Company Accounts & Analysis of Financial Statements)

12.

13.

14.

foriia foerer & fasiyor @ Hear &1 Uik S 1

Explain the significance of Analysis of Financial
Statements.

foritg faRor fasqe &1 #E 0% Sesd IaiEul 1

Give any one objective of Financial Statements
Analysis.

‘T A% S fdo’ @ FEdE T F e & au A
e o & &R o Rafq 71 ® :

g T : €% 5,60,000 3; TRR 3,50,000 X 3
A 70,000 3|

Y A : IER 4,90,000 3; & FT 2,00,000 3|
O AT ¢ (i) =G STIUN, T (i) @R oA 4

4308/(Set : A)
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(11) 4308/(Set : A)

The working capital of 'XYZ Ltd.' deteriorated in
recent years and now as under :

Current Assets : Inventory ¥ 5,60,000; Debtors
¥ 3,50,000 and Cash ¥ 70,000.

Current Liabilities : Creditors ¥ 4,90,000;
Bank Loan ¥ 2,00,000.
Compute : (i) Current Ratio, and (ii) Quick Ratio.

15. =T germ @ FHase Bearett 8 g Ahs Jae Hi
O I 4

31-03-2017 | 31-03-2018

Jufaiad e 9ae (WDV) | 6,00,000 | 7,50,000 %

(i) 1,00,000 % TFE-H A, STER THEG 89
30,0003 &, 60,000 < & =1 T

(i) 31-8-2018 & FAMG a4 § w9 9T 50,000 3
B9 T 4T |

Calculate = Net Cash Flows from investing

activities from the following information :

31-03-2017 31-03-2018
Building (W.D.V.) % 6,00,000 % 7,50,000

Additional informations :

(i) Building costing ¥ 1,00,000 on which
% 30,000 accumulated on depreciation was
sold for ¥ 60,000.

(ii) Depreciation charged on building for the
year ended 31-3-2018 ¥ 50,000.

4308/(Set : A) P.T.O.

Previous Pathshala




(12) 4308/(Set : A)
16. AFS a8 [axor & el e SWR & avF Py 4

State any four uses of Cash Flow Statement.

17. T &G 5 100 % 9l 5,000 9T 3 T T
Frif fhm g TR &1 A 39 TR B

JMAE X 25 ¥; 3MEed WX 25 3; Usall g o1y
fohed 9T 50 2

U e, Rres a| 300 a0 ¥, gl F St
fepe a1 T 1 I T8l [Tl S8 AT Bl ST AL
form T @ik 70 % ufg oo & REE | T Frif &
fe

FA B JETR  STasdeh S dfaftedr Hifvm 8

A company makes an issue ‘of 5,000 equity
shares of ¥ 100 each at par. The net amount is

payable as follows :

On application ¥ 25; On allotment ¥ 25 and
First & Final Call ¥ 50.

A shareholder holding 300 shares did not
pay first & final call money. His shares were

forfeited and re-issued at ¥ 70 per share.

Pass Necessary Journal Entries in the books of
company.

4308/(Set : A)
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(13) 4308/(Set : A)

YAl
OR
=1 @ feray feaelt fofe
(&) i Pt
(@) ofst @ hfem W el
Write short notes on :
(a) Over Subscriptions.

(b) Issue of Shares at Premium.

18. ‘T fHds’ & Y&l H 1 FFReR, 2017 & =
TERid 9

2
12% T : 9,00,000
fHifenT woe : 6,75,000
Rif wue fafEn (sifea.g@) @ 7,65,000

fafsart 9 &9 30 o @ 31 9™ @ 8% @l
T qIfe STE UL U1t fhar ST 2

gfead 31 A= # [T %98 & 1,50,000 3T H HAEH
ERISIRIE

31 HrE, 2018 H FIGH H PFAM a7 & T
F A T B8 [AANT B 90% UX S R FOT9A
H Mg B RAn @ RT % F 99 3,24,000 X
(fafvart @ =T o | qd) em

‘T fafHes’ @ Je § STEasEE @ (A il 8
4308/(Set : A) P.T.O.

Previous Pathshala




(14) 4308/(Set : A)

The following balance appeared in the books of
'A' Ltd. on 1st October, 2017 :

3
12% Debentures : 9,00,000
Sinking Fund : 6,75,000

Sinking Fund Investments
(Face Value) : 7,65,000

Interest on investment is received on
September 30 and March 31 @ 8% per annum.

Annual contribution to the Sinking Fund
was ¥ 1,50,000 made on March 31 each year.

Debentures fell = due for payment on
March 31, 2018. The company carried out the
redemption by - the sale of Sinking Fund
Investments at 90%. On that date balance at
bank stood 'at . 3,24,000 /(before interest. on
investment has received.)

Prepare necessary Ledger Accounts in the
books of 'A" Ltd.

YT

OR
FOGET B URaAT & MEM q SueHl F+1 AW § 7
T IEEAY AHY oMd Haredl ER1 T Hif| 8

What do you mean by redemption of debentures
by conversion ? Explain with the help of Journal
Entries by taking an example.

4308/(Set : A)
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(15) 4308/(Set : A)

T -9
PART - C
CaGalicia)

(Computerized Accounting)

12. ST HaRdT #&r 8 ? 1
What is data processing ?

13. ST Jfeed &1 8 ¢ 1
What is data validation ?

14, HFYEUh e GOl & Sl e 4
Explain features of Computerised Accounting
System.

15. S Jav ST d 1 S © 7 4
What do you mean by the concept of Database
Management System ?

16. ‘FEHESS FHEET Ybe W g feuo fafew 4
Write short note on 'Customized Accounting
Package'.

4308/(Set : A) P.T.O.

Previous Pathshala




(16) 4308/(Set : A)

17. R e &1 smasgs a1 [ 8
Explain essential of Reporting System.
HYqT
OR
‘IBde’ M & fafe [l & avi Sk 8

Explain the different methods of creating 'query'.

18. dWiHT ¥ Tedfie & A= s & R @ aoi
B 8

Explain in detail the different applications of
spreadsheet in Accounting.

YqT
OR

Sresiic 71 & 7 sHal faQvan faiag 8

What is Spreadsheet ? Give its features.

4308/(Set : A)
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° FYF T F T [ FG FT-7 H FRG 75 16 O
J97-25(11+7+7) &1
Please make sure that the printed pages in this

question paper are 16 in number-and it contains
25(11+7+7) questions.

° T97-UF 7 qled & # G ’d 7 FE TR a9 §e FH
B FT-JieTetl & §&-98 T 7]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 [ FIV [T §@ HI7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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(2) 4308/(Set : B)
o FTT-gikTE # &5 7 &l o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FTT-gRaEl F SaRF FE o dfc T& Al o
STPTEAFar & g i frar gav 7 #12)

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the uwritten
answer.

o GRS ST T To FIT-UF T 79T [or@)
Candidates must write their Roll Number on the
question paper.

» UF F97] F FT &7 @ §d 98 GrREad &7 o [F Je7-0E
g7 q @& & YhEr % Iy 54 T5EH. F #HE A a@r
& T [T T

Before answering the question; ensure that you
have been supplied the correct and  complete
question paper, no claim in this regard, will be
entertained after examination.

AT [78%T -
() T8 FIT-FE- AT G F @ & -
97T - 3 : ST G T @IFaTd @I
T - & + F Ga GF AT [l s @9y
9T - & : BLCIHT AG[H)

(i) T - 37 Sffard &1 qErE o7y seBT @ 4T - §
T T - T 7 7 FE F T ET F
(iii) TH F97 BT BN 81 HAF HIT B HF FGD WHT
T T 8
4308/(Set : B)
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(3) 4308/(Set : B)

(iv) F7 @@ 1@ 6 d 12 @7 13 % 7 15 & 20

(v)

= § fod aer g97 g7 @ 10 714 @ 16
AT 40 @ 50 =1 F @)

97 @eqr 11, 17 797 18 ¥ il §¢ =]
&1

General Instructions :

(9

(%)

(iii)
()

(v)

This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

Part - A is compulsory. Candidates have

to attempt any one part from Part — B and

Part - C of their choice.

All questions are to be attempted. Marks of
each question are indicated against it.

Give answer Question Nos.'1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7T to
10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos.
11, 17 and 18.

| -
PART - A

(T W O e @)

(Not for Profit Organizations & Partnership Accounts)

1. “IEERE gb B FAE” (AFed TR) H a0 B 1
Explain Payment of Honorarium.
4308/(Set : B) P.T.O.
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(4) 4308/(Set : B)
2. F UH 9k B H GEEN & Thal & ¢ U

it 1
Is a minor be partner of partnership firm ?
Explain.

3. ‘W IN T wHHHHA2: 1D AU & A-ail ared
ng%m%w@ﬁwﬁ‘a’zﬁ%m%mw
GIECEECE Rl
T | YU ST i 1

'A' and 'B' are partners in a firm sharing profits
and losses in the ratio of 2 1. They admit 'C' as

new partner for %th sharein profits.

Calculate new sharing profit ratio.

4. ‘STECT ¥ AY-FT GHIq & 7 1

Write the meaning of 'Drawings'.

5. B8 § U T4 Qe dY SET S bl & ° 1

How can a new partner be admitted in a firm ?

6. I @A 9 TS @A | His gF A w1

Write one difference between Realization
Accounts and Revaluation Accounts.

4308/(Set : B)
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(5) 4308/(Set : B)
7. 9 O 9 FE @d | 31 REWR, 2017 & §EC

9 F AT T AR AT 4
e 7 AT ¢
Y R @R T | 13,000 | fRmE (11 7N @ ) | 8,800
Tl (a8 2018 & S 120
500 %) | 29,000 | I 13,200
ASlla TRl o | 1,250 | BT 3,000
fFErm w =S Y HAF | ST 19,530
(7% & q ©h 99 | 1,400
)
44,650 44,650
31-12-2016 31-12-2017
(i) SepIAT =T 1,500 % 2,400 %
IR & & 250 % 700 3
(if) ST 1 STFEER, 2017 &l GH 99 & [oQ feam T&m
Prepare Income and Expenditure Account for the
year ended . 31st -December, 2017 from the
following Receipts and Payments Account :
Receipts 4 Payments ¢
To Balance B/d 13,000 | By Rent (paid for
To Subscriptions 11 months) 8,800
(including year By Insurance 120
2018 ¥ 500) 29,000 | By Salaries 13,200
To Life time By Stationery 3,000
membership Fee 1,250
To Interest on By Balance C/d 19,530
Investment (7% p.a.
for full year) 1,400
44,650 44,650
4308/(Set : B) P.T.O.
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(6) 4308/(Set : B)

Additional informations :
31-12-2016 31-12-2017
(i) O/s subscription % 1,500 % 2,400
Stock of Stationery T 250 T700

(ii) Insurance paid on 1st October, 2017 to run

for one year.

8. O, AR T W HH A 2:3:5% AU &
H-BM dfed §U WEER 3 S @R o A
2,00,000 %; 4,00,000 ¥; 31X _8,00,000 % i a¥
2017 ¥ ot @ &R 10% 9% & &-F9 M 12%
I & & T T

I CERERC b b 6 B & TR | e | R ol s L) ) v e | T
ity 4

'A'; 'B' and.'C' are partners in a firm sharing
profits and losses in the ratio of 2 : 3 : 5. Their
fixed capitals were ¥ 2,00,000; % 4,00,000 and X
8,00,000 respectively. Interest on capital for the
year 2017 was credited to them @ 12% per

annum instead of 10% p.a.

Pass necessary Adjustment Entry after

showing necessary adjustment.

4308/(Set : B)
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(7) 4308/(Set : B)

9. TH AN G TH HH H 3 : 2 F FIUW H WH-EN
Sfed §T GRER &1 S8 S’ H BH § AT fEm T
AH-BI STU FAT: 2 : 1: 1 B8R M ‘SIS’ oA foed &l
i 25,000 ¥ e M

W’ % Yau & A9 @G 12,500 ¥ HH B
gl | feErd T R
T JRTH H SasaE e Sfaftedt S 4

'X' and 'Y' are partners in a firm sharing profits
& losses in the ratio of 3 : 2. They admitted 'Z' as
a new partner and new profit sharing ratio will
be 2 :1: 1. 'Z brought /25,000 for his share of
goodwill (premium).in cash.

Goodwill already appeared in the books of
the firm at ¥ 12,500 “at the ‘time of 'Z's
admission.

Pass necessary Journal Entries in the
books of the firm.

10. TF B H ‘S@IX O 3 @ 2 & UM H HEER o
31 REWER, 2017 H I BH H THAGT BT B O
fpar, SO T fafe 39 9K ©
i @Rl gEhEr 20,000 3 AR e
5,000 3 &S 6,000 I1 Telt HAM: 18,400 3 &R
10,600 % 2|

=l FEfEl | agat 41,800 3 AR AR) dErEr
¥ 4,600 T & T ARK 5% HH A I GEAT & T
T @1 400 % ol

i SIUREINIIERIEY 4
4308/(Set : B) P.T.O.
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(8) 4308/(Set : B)

'D' and 'R' are partners in a firm in the ratio of
3 : 2. They decided to dissolve their firm on 31st
December, 2017. The position is follows :

Assets : Fixed Assets ¥ 20,000; Current Assets
¥5,000 and Cash in hand ¥ 6000. Capital
¥ 18,400 and X 10,600 respectively.

Fixed Assets realized ¥ 41,800; Current Assets
¥4,600. Creditors agreed to accept 5% Less.
Expenses of winding up ¥ 400.

Prepare Realisation Account.

11. 1 S¥ad, 2018 & ‘TR, ‘AR’ R S’ @ fug, S
fp Tl Bl oTget ISl ou § afed ¥, 56 UK R
FeRaIIT 4 T 4

fafery @R 10,000 | 5% 9 8,000
T A 1,000 | f&fae S_R 7,500

-1 Tl 7,500 HRI-SRIS — 500 | 7,000

o« ‘T 22,500 | @i 17,500

‘aqrg’ 15,000 | faf+@RT 6,000

e 7,500 | T FRiEt 25,000

63,500 63,500

SR fafy @ S’ Fefofad adf | SEwr T8
FXAT ©

(i) T g @B g 10% A fhar S

(i) faFERT 1 Feiewe 5,000 ¥ 9T {61 S

(ili) T ITERX oW

4308/(Set : B)
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(9) 4308/(Set : B)

(iv) ®H & @A H qFiHT 4,500 ¥ W T S
YR @, HEERl & Sl @ e Sented
ferger AR #ifom 8

The following is the Balance Sheet of 'X', 'Y' and

'Z' on 1st January, 2018, distributed the profit
in capital ratio :

Liabilities 4 Assets 4
Sundry Creditors 10,000 | Bank Balance 8,000
O/S Expenses 1,000 | Sundry Debtors 7,500

Profit & Loss A/c 7,500.| Less: Provision (=) 500 7,000

Capital : Stock 17,500
X' 22,500 | Investment 6,000
Y 15,000 | Fixed Assets 25,000
'z 7,500
63,500 63,500

'Z' retires on the above date on the following
conditions :

(i) Fixed Assets be reduced by 10%.

(i) Investment are revalued at ¥ 5,000.

(iii) Debtors were all good.

(iv) Goodwill of the firm be valued at X 4,500.

Prepare Revaluation Account, Partners'
Capital A/c and Revised Balance Sheet.

4308/(Set : B) P.T.O.
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(10) 4308/(Set : B)

YT

OR
U GERER & YA & 99 AN @ (W) @
qAGiRT e JBR BT 7 8

Explain the accounting treatment of goodwill
(premium) at the time of admission of a New

Partner.
AT - §
PART - B
(et Ema er o fEERen @ fase)

(Company Accounts & Analysis of Financial Statements)

12, foxii fqavei & faseiver @ HE @ @ e 1

Write any two limitations of Financial Statement

Analysis.

13. [ [qaeel & [Qecer & $ig & o [oiau 1
Write any two tools of Financial Statement
Analysis.

14. = geeell | &b T STU s i 4

() % = 3,75,000 7%,

(i) 9RF¥E €iw 25,000 %,

(ili) orf<™ €f% 35,000 %,

(iv) Eehel S STIU fephl T 20% M &X Al

4308/(Set : B)
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(11) 4308/(Set : B)
Find the inventory turnover ratio from the
following informations :
(i) Total Sales ¥ 3,75,000;
(i) Opening Inventory < 25,000;
(iii) Closing Inventory ¥ 35,000;
(iv) Gross Profit @ 20% on sales.

15. =T germ @ FHase Bearett 8 g8 Ahs Jae #i
T I 4

31-12-2016 31-12-2017

99 (W.D.V.)
JUfeiEd g | 3,00,000% |  3,75,000 %

(i) 50,000 % %l AN &l HAAL, PEy weEa &M
15,000 % 2, 30,000 % &I =it-7:

(i) 992017 " HAFH-OX 25,000 F &F TR I |

Calculate Net Cash Flow from investing activities
from the following information :

31-12-2016 31-12-2017

Machinery (W.D.V.) | %3,00,000| 2 3,75,000

Additional informations :

(i) Machinery Costing ¥ 50,000 on which
¥ 15,000 accumulated depreciation was
sold ¥ 30,000.

(ii) Depreciation charged on machinery for the
year 2017 % 25,000.

4308/(Set : B) P.T.O.
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(12) 4308/(Set : B)
16. s YA faaver # #E grv g gy 4

Write any four Ilimitations of Cash Flow

Statement.

17. {9 ff#¢E 9 100 % 9 3,000 GHAT AT TG T
Frif fhm g TR &1 I 39 TR B

SMEST X 30 3; ofEes X 30 3, 9O W9 q
JAfH AT I) 40 R

Th UGN, S TE 200 HT &, = AR OB
TIAE el f6an I8d sl B e & form @ iR
50 - Fiel A Yeree g FEE T R

A JETDl H SMaE ST Sfaftedr S| 8

Ram Limited makes an _issue of 3,000 equity

shares of ¥ 100 each at par. The net amount is

payable as follows :

On Application ¥ 30; On Allotment ¥ 30,
and First & Final call ¥ 40.

A shareholder holding 200 shares did not
pay call money. His shares were forfeited and re-

issued at ¥ 50 per share fully paid up.

Pass necessary Journal Entries in the books of

company.

4308/(Set : B)
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HAYAT
OR

A H BT W AN F GEEM & ¢ WA B BT H
ﬁwaﬂﬁaﬁﬁnwwﬁ%wzﬁaﬁaqﬁw
| 8

What do you mean by forfeiture of shares ?
Explain the procedure of forfeiture of shares and
give journal entries of forfeiture of shares.

18. = awell ® ® @ geddl |, 3,800, 7% FOIGH
100 X aTell % [qHYer i SAGeE Sivo Haftedr i @ 8

(i)  =ROT9S B1 SNET §HY 9%, 100-3-a- T 10%
FOE H GREa - S R T A 5%
Pt I R T T

(i) O H MET 5% HEEH W 100 Ta™ 8%
qdifeEn Sl H _Reds b R T gEiRER
AT TG W i A T

Pass necessary Journal Entries in the books of a
company in the following cases for redemption of
3,800, 7% Debentures of ¥ 100 each :

(i) Debentures redeemed at par by conversion
into 10% New Debentures of ¥ 100 each
issued at discount of 5%.

(iij Debenture redeemed at a premium of 5%
by conversion into 8% preference shares of
% 100 each at par.

4308/(Set : B) P.T.O.
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13.

(14) 4308/(Set : B)
UG
OR
frfcie @t e i ¢ 8
(31) RoTGEl @& QS F e, qRm
(@) FoTE B oA d G S
Discuss the following :

(@) Redemption of debentures out of capital,

and
(b) Redemption of debentures out of profits.

i1 -9
PART -C

(et )

(Computerized Accounting)

FYTUEHT @b § AT T I & 7 1

What do you mean by Computerized Accounting ?

TN Ufafte & e Hifo| 1

Describe Adjusting Entry.

4308/(Set : B)
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(15) 4308/(Set : B)

14. S YART R & SR & aue S 4
Explain the types of Data Processing System.

15. FYUEA EihT IO § A9 1 TR & ¢ 36
P 7 A SAE 4
What do you mean by Computerized Accounting
System ? Give any three advantages of such
Accounting System.

16. S[EEH T SO & F1 YA &7 4
What are the uses of Database Management
System ?

17. @wqﬁﬁﬁm@q%ﬁﬁww%ﬁﬁﬁ
T FHT a0 i
Describe 'various steps in the design view
method to create a query to MS-Access.

HAYAT

OR
Rid 71 8 ? o RO 0 & = afs & ave
EASIY 8
What is Report ? Describe various methods of
creating a report.

4308/(Set : B) P.T.O.
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(16) 4308/(Set : B)
18. TEsfic FM 2 ? Tefic I (Grid) A Q=R ? 8

What is Spreadsheet ? How is grid different from
spreadsheet ?

AT

OR
Gedfic & FYIFA qU dAforba HA F SR W
EIE I 8

Clarify the difference between computational
and logical functions of spreadsheet.

4308/(Set : B)
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° FYF T F T [ FG FT-7 H FRG 75 16 O
J97-25(11+7+7) &1
Please make sure that the printed pages in this

question paper are 16 in number-and it contains
25(11+7+7) questions.

° T97-UF 7 qled & # G ’d 7 FE TR a9 §e FH
B FT-JieTetl & §&-98 T 7]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

® YT J97 [ FIV [T §@ HI7 d el JIT B FHEH
T [7g)

Before beginning to answer a question, its Serial
Number must be written.
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o FTT-gikTE # &5 7 &l o/ 91 T Sig)

Don’t leave blank page/pages in your answer-book.

o FUv-gikawl & Slakdd g o9 de TE A o
SETRATA & fid v ferar g 7 212
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the uwritten
answer.

o GRS ST T To FIT-UF T 79T [or@)
Candidates must write their Roll Number on the
question paper.

» UF F97] F FT &7 @ §d 98 GrREad &7 o [F Je7-0E
g7 q @& & YhEr % Iy 54 T5EH. F #HE A a@r
& T [T T

Before answering the question; ensure that you
have been supplied the correct and  complete
question paper, no claim in this regard, will be
entertained after examination.
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(iv) F7 @@ 1@ 6 d 12 @7 13 % 7 15 & 20

(v)
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General Instructions :

(9

(%)

(iii)
()

(v)

This question paper is divided into three
Parts :

Part - A : Not for Profit Organizations &
Partnership Accounts.

Part - B : Company Accounts & Analysis of
Financial Statements.

Part — C : Computerized Accounting.

Part - A is compulsory. Candidates have

to attempt any one part from Part — B and

Part - C of their choice.

All questions are to be attempted. Marks of
each question are indicated against it.

Give answer Question Nos.'1 to 6 and 12 &
13 in 15 to 20 words and Question Nos. 7T to
10 and 14 to 16 in 40 to 50 words.

Internal choice is available in Question Nos.
11, 17 and 18.

| -
PART - A

(T W O e @)

(Not for Profit Organizations & Partnership Accounts)

1. 99 T & aUF HioT) 1

Explain General Donation.
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2. @ Ot 7 R O § S5 g o A

Give any one difference between fixed capital
and fluctuating capital.

3. O, ¥ AW 5:3:2% ANYUA 7 aAw-gIT dred
W BH 7 GEER 8 S9N T @ EH A maw k&
TG 9=l ST A 3 : 2 : 2 : 3 B
TN AU S i 1

'A', 'B' and 'C' are partners in a firm sharing
profits & losses in the ratio of 5 : 3 : 2. They
admit 'D' in firm. The new profit sharing ratio of
partnersis 3 : 22 : 3.

Calculate sacrificing ratio.

4. A H Gedice B i &l o fofem 1

Write two methods of valuation of goodwill.

5. frel & uRRElEl @1 9ol e e ® aEe |
HEER &I R GO § giad & S gl 1

List any two circumstances under which the
fixed . capital of partners may change in
partnership.

6. TEEN H THNY 9 BY & 99O § HE P STK
forRau) 1

Give any one difference between dissolution of
partnership and dissolution of firm.

4308/(Set : C)

Previous Pathshala




(5)

4308/(Set : C)

7. Fr= oiftd @ e @ @ 31 A, 2018 H gEE A

P SF-2F T R HIoT 4
i 7 kil 7

Y T @ T 39,000 | & (10 WM @t
féam @) | 30,000
o=l 87,000 | da 36,000
fafErt o = 4,200 | RITH 15,000
o & fog a= 5,000 | Y T & ST ™M | 54,200
1,35,200 1,35,200

@)
(i)

31-03-2018 & IHETN TF 1,800 T |
31-03-2018 & BH T=&r 10,0002

(iii) 31 #E, 2017 & VA & €i® 7,500 T o
3R 3191, 2018 &l 14,000 <M

Prepare Income and Expenditure A/c for the
year ended 31st March, 2018 from the following
Receipts and Payments Account :

Receipts 4 Payments 4
To Balance B/d 39,000 | By Rent (for 10

months paid) 30,000

To Subscriptions 87,000 | By Salaries 36,000

To Interest on By Stationery 15,000
Investment 4,200

To Donation for By Balance C/d 54,200
building 5,000

1,35,200 1,35,200
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Additional informations :
(i) O/S Expenses on 31-03-2018 is ¥ 1,800.

(ii) Subscription received in advance on
31-03-2018 were ¥ 10,000.

(iii) Stock of stationery on 31st March, 2017
was ¥ 7,500 and on 31st March, 2018 was
% 14,000.

8. TR & wh B & 3: 2% oTuM | Ar-aIiv dfed
IR ¥ S ESi BT 50,000 T FAM 25,000 3
| YO% WERR Sl 0o W 10% &N 9N H
A BT A F ¥ URE W I qeM $ UEg
ofeb HIS Al FHISH FCH H gd H. 9 B 10%
FHE TN FH AR B AT H T -gRE |
o g FHIE HeM o UG AT H-8% HHISH
I T SR Sl 9y A ol I N O §
37,5003 &

1 e 1 O S A 4

'A' 'and 'B' are partners.in a firm sharing profits
and losses in the ratio of 3 : 2 with a capital of
¥ 50,000 and ¥ 25,000 respectively. Each
partner is entitled to 10% interest on his capital.
'A' is entitled a commission of 10% on net profit
remaining after deducting interest on capital but
before charging any commission. 'B' is entitled a
commission of 8% of net profit remaining after
deducting interest on capital and after charging
all commissions. The profit for the year prior to
calculation of interest on capital was ¥ 37,500.

Prepare Profit and Loss Appropriation
Account.
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9. O, ¥, @AM T AT H 2 :2:1: 173
A # Sfed g B H GEER 21 S wiaw #
AE-eN # 3 : 3 : 2 : 2 & g & ol feam @
Jee & [T @A 1 qedid 12,000 X f6ar T@n 39
9 ®H & JEH § 8,000 3 H UH HEF A

IUYH EHENH % U BH S JEe § etas
st gfafeedr i 4

'‘A', 'B', 'C' and 'D' are partners in a firm sharing
profits and losses in the ratio of 2 : 2 : 1 : 1.
They decided to share future profits and losses
in the ratio of 3 : 3 : 2 : 2. For this purpose
goodwill of the firm was valued at I 12,000.
There was also‘a reserve of ¥ 8,000 in the books
of the firm.

Pass necessary Journal Entries for the
above arrangement in the books of firm.

10. 97, ‘¥ R @ 2: 2 : 1B SYUN ¥ @H-ei ared
W & B H EEER §1 1 3B, 2018 HI FH & g
3 TP ©

JeeanaIT ¢ | gmRar 4
fafae @eR 3,600 | ¥ 3,600
Y 99 1,500 | 3&IX 2,400
ol wih 1,800
‘e 4,500 LIy 600
q 3,600 - 6,600
q’ 1,800 | 9,900
15,000 15,000
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S fofr ® w1 & fEed @ B @W wwReE @
11,400 ¥ & g Bl Il ® 3,300 T AW
FuerT gam 900 % oA foem gam @@ 81 240

G AT AR it 4

'A', 'B' and 'C' are partners in a firm sharing
profits and losses in the ratio of 2 : 2 : 1. The
Balance Sheet of the firm as on April 1st, 2018
was follows :

Liabilities 4 Assets 4
Sundry Creditors 3,600 | Bank 3,600
Gen. Reserve 1,500 | Debtors 2,400
Capital : Stock 1,800

‘A" 4,500 Furniture 600
‘B 3,600 Building 6,600
'Ct 1,800 9,900

15,000 15,000

The firm was dissolved on the above date. All
assets realized for ¥ 11,400; Creditors were paid
T 3,300 in full settlement. Unrecorded liabilities
¥ 900 and Realisation Expenses ¥ 240.

Prepare Realisation Account.

11. 90 iR T G T & 5 3 F oTgya § A afed §¢
HIEEN Bl 31 fRE=K, 2017 %l Il el 36 9 B -

TG 4 T 4
Tl EEE 20,000
e’ 15,000 i 10,000
‘9 10,000 | 25,000 | ITER 15,000
AER 7,500 | ura fqu= 5,000
e arferformd 21,250 | A%s 3,750

53,750 53,750
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‘H’a?r%ﬂw%%mtﬁﬁﬁu%mﬁmwwazo,ooo

I G & w9 # 9 2,000 % wl B OhfEm $ oww d
RN S AT @ | qAT W P 10% HEN Gl eI
W 5% i & § FEPH g9 W geqd gl

JTFT @, GEER & OO @] ofR BH
war fag I 8
'A' and 'B' are partners in a firm sharing profits

in the ratio of 5 : 3. The Balance Sheet of the
firm on 31st December, 2017 was as follows :

Liabilities 4 Assets 4
Capital : Building 20,000
'‘A' 15,000 Stock 10,000
'‘B' . 10,000 | 25,000 | Debtors 15,000
Sundry Creditors 7,500/| B/R 5,000
Bank Overdraft 21,250 | Cash in hand 3,750
53,750 53,750

'C' now joins them on condition that he will

share Eth of the future profits. He introduced

¥ 20,000 by way of capital and further ¥ 2,000
by way of premium for goodwill. 'A" and 'B' agree
to depreciate building by 10% and to raise a
reserve against sundry debtors @ 5%.

You are required to prepare Revaluation
Account, Partners' Capital Accounts and New
Balance Sheet of firm.
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AYqT
OR
(31) rel WERR & BH 7 Ja9 & W TUREl iR
Ml & QT qedihd 1 A S § 7 4
(@) uwh WEE BH A AT GRRER & JA & @
Al g AR ® g e & W e
fafeat & o wiaftest @t i ¥ ? 1+1+2
(i) <R & I 984 T,
(i) TERE F TF P BN W,
(i) GTHeaiR @id H A A B BN W
(@) On the admission of a partner, why are
assets and liabilities revalued ?

(b)...What Journal Entries passed in the
following situations _at | the - time of
admission of a partner when assets and
liabilities re-valued :

(i) Increase in thewvalue of Liabilities,
(i) Decrease in the value of Assets;
(iii) Profit or Loss on Revaluation Account.

T -9
PART - B
(=t @d e o fFaRet @ s
(Company Accounts & Analysis of Financial Statements)
12. e faexel § o9 &1 a9ed § ° 1

What do you mean by Financial Statement ?

13. forig faxen & faequer &1 g & 3g9g fofan 1

Explain any two purposes of Analysis of
Financial Statements.
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=T geTett | = U @ Rl ST S i 4

W 1,40,000 %; IT&R 80,000 %; UHE 25,000 %;
e 1,10,000 % AR 3 BRI ¥ 12,500 2|

From the following information, calculate
current ratio and quick ratio :
Inventory ¥ 1,40,000; Debtors ¥ 80,000; Cash in
hand ¥ 25,000; Creditors ¥ 1,10,000 and other
short-term liabilities ¥ 12,500.

T fie fafee e SFerd JeM &l ®

1-4-2017
3

31-3-2018
4

ENIER]

50,000

60,000

IR SR

15,000

25,000

I & 2R U A0 T 9o

25,000 T 91 AR g

¥ GG &M 15,0003 B, & 13,000 % & =1 T4

SYFer] ST FasT BRehedl | e Jare @

G BT 4
Well '« Print .. Limited ~ provides the _following
information :
1-4-2017 31-3-2018
4 4
Machinery 50,000 60,000
Accumulated Depreciation 15,000 25,000

4308/(Set : C)

During the year, a machine costing ¥ 25,000 and
accumulated depreciation on it was ¥ 15,000
was sold for ¥ 13,000.

From the above information, calculate Cash
Flows from investing activities.
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16. s YaE fqaxor & fheel 77 391 1 auiF i 4

Mention any four objectives of Cash Flow
Statement.

17. ‘FoT fiffde’ 9 100 X Sd% % 10,000 el & 10 T
gfer sfer e @ FRifE B i 39 TR 3 E

e W 30 ¥; T W 50 X (S |fea);
g g AR G WA

el Sl W AREN I g Al A AW e
TR, 120 e WX eEes X "M U & Afafea urd
BN BT AWM B T B AT T S 90 % TAE B

Qofes Sl § GARTHA f6ar T
P B gER A TEEE Ao afaftedt
B 8

'Krishna Ltd."' offers 10,000 share of ¥ 100 each
at a premium of ¥ 10 per share to the public.
The amount is payable-as follows :

On Application ¥ 30; On Allotment ¥ 50
(including premium) and rest of on First & Final
Call.

All share are subscribed. Company received
all money except allotment and First & Final call
money on 120 shares. These shares are forfeited
and re-issued as fully paid up at ¥ 90 each.

Pass necessary Journal Entries in the
books of the company.

4308/(Set : C)

Previous Pathshala




(13) 4308/(Set : C)

CLC)|

OR
=1 o e feaelt fafaw
(31) orfetiEmM| 4
(@) ofst @ hfem W el 4

Write short notes on :
(a) Over subscription.
(b) Issue of share at premium.

18. ‘&l fifes’ # g&ih # 1 9fgER, 2017 & F= A9
TERid 9

z
10% k9T U5 : 4,50,000
it wve : 3,37,500

Rife ®ve faffnT (Sifed 9e@) : 3,82,500

foffart W == 30 fgg=R g 31 9™ @ 8%
aiftfes & STER 9% 9T fohar < 21

gfaay 31 HE &l [T ®U8 § 75,000 T @ SAEH
fopam e R

31 HrE, 2018 H RGH H PFAM a7 & T
Fr 3 RifET ®wve AT B 90% W SERT FOrE
H Mg W RAm @ RT J6 & 9 1,62,000 2
(fafe=lt =t o & gd) em

 fAfee’ & g 7 oTasd® @ AR il 8
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The following balance appeared in the books of
'B Ltd.' on 1st October, 2017 :

4
10% Debentures : 4,50,000
Sinking Fund A/c : 3,37,500

Sinking Fund Investment A/c
(Face Value) : 3,82,500

Interest on investment received on 30th
September and March 31st 8% per annum.

Annual contribution to sinking fund was
% 75,000 made on 31st March each year.

Debentures fell due for payment on March
31st,, 2018. The company carried -out the
redemption by  the sale of Sinking Fund
Investment. at 90%. On that date balance of
bank stood at % 1,62,000 (before interest. on
investment has received).

Prepare necessary Ledger Accounts in the
books of 'B Ltd.'

e

OR
“d IR ¥ RO B HI” N ORI & AET B
T & av i 8

Describe the method of debentures redemption
by "purchase of debentures from open market."
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AT -9
PART - C
(Fgelga qEis)

(Computerized Accounting)

12, Fe SEERIT YOl &l Ie99 G 1
Mention the purpose of Transaction Processing
System.

13. HYGd AGH Hl Hls G G [ 1

Write any one need of Computerized Accounting.

14. ‘Rgifaaa OB & a9 = g9eid & 7 4

What do you mean by 'referential integrity' ?

15. HYGA oidT § YT B a i HeEe
BERICTIE AN K R 4

What- are various operating procedures used in

Computerized Accounting ?

16. U9 TH-THY & 5 a3 (FHHw) e 4

Give any four components of MS-Access.
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17.

18.

(16) 4308/(Set : C)
Y geed ¥ Rod fooge #9 & oMy sagu 8

Explain the basis of designing report in Access
Database.

YT
OR
‘G M & AT Tl @1 auie Sk 8

Explain the different methods of preparing
'Form'.

esiic 71 8 ? 365 FAl Bl AU BT 8
What is Spreadsheet ? Give its functions.

HYq[

OR
geslic § U $iH, HIR g 8o & ST 9 8 B
gfshaT 1 ai I 8

Explain the process of inserting and deleting a
column, rows and cells in spreadsheet.
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